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Aufgaben-Quickname: 8700

Aufgabe 1 Quick:

8700
Markiere die richtigen Aussagen.

a) o |FU| _ |FU’|
|[KK'[ — U K|

/ |FU'| _ |KK'’

XTouT| T [FK|

U’ |IKK'| _ |FK'|
oU] = [FU7
K IFU| _ |FK|
Vo] = KK
U
K
F
b) X\MM’\ _ |SN]|
[SM] — [NN'|
/ IMM'| _ |SM]
I N VINNT = [SN7]
N [SM'| _ |SN’|
1 VIsM] = TSN
( |SM| _ |SN'|
*15M’] = TSN
S
|DD’'| _ |KD]|
VITIT = TRL]|
|[KD| _ |KL’|
*TKD'| — KL
|[KD| _ |KL|
VIKD'| = |RL/|
|[KD'| _ |KL/|
VIRD] = TRI]
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d) \/|PC’\ __|PD'|
[PC] [PD]

|cc’| _ |PD|

X1DD7] = TPC|

\/|CC’| |DD’|

[PC] [PD]

|cc’| _ |pPC’|

V1bD'| = [PD|

Aufgabe 2

Markiere die richtigen Aussagen.

INK| _ |PP’ )
Xi\KK"\ |NP\‘ b V.
|[KK'| _ |NP|
*TPP’] — |NE|
|[KK'| _ |NK| ,
\/|PP/‘ ~ |NP| \V
INK'| _ |[NP’|
VIRET = TPPT]
U
W’
/ Ny
|RJ| _ |RJ']|
VIRQl = 1RQ|
BT |RQ|
[RJ’| [RQ|
CABIL |RQ’|
[RQJ [RJ’|
[RJ'| _ |RQ’|
VIRIT = TRQ]
d) , |SY| _ |SY]
Y 5G] = 15¢7
_ Y|
T ISYY
_ lsy’|
e
_ |s¢’|
BREE
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[UW| [uv’|
XTov] TOW7]
ww’| _ |[vV/]
VIoWT = 0V
[Uw| [UV|
VTww = Vv
[uw’| _ |uVv’|
VowT = o]
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Aufgabe 3

Markiere die richtigen Aussagen.

|X'B’| _ |SX] |D'G’'| _ |[WG]
a) S XIXB[ — 15X7] b) \ XTDeT T W
|XB| _ |SX’| s |D'G’'| _ |WD|
X TRIT — Tav| G/ X = 7
| X" B’| [SX] D’ DG [WD’|
|XB| _ |SB| |D'G’| _ WG|
VIXTB = 1857] VIBaT = Twa
\/|X’B’| |SX’| \/|D’G’\ _ |wD'|
X B [5X] G D DG] = WD
B
,
X B’ W
X'/
LK _ L]
X
LK = TIL7]
IL'K'| _ |IL]
LK] TTL]
\LK| _ |IK|
7R = TIK7]
|L'K \ |[IK \
\LK\ \IK|
\LD\ _ |XL\
‘/|L:D:| = 1XT]
Lo ixp|
[ZD[ = XD]
LDl _ |xD]
7D = TXD]
\/|L/D’| XL
ZD] — [XL]
Aufgabe 4
Eine Aussage ist fiir jede Zeichnung richtig. Welche ist es?
GB'| _ (27| , Vv _ |DG]
BB’ T |GZ| b) R’ *1Ge7 T DV
« IGB| _ |PP'| ><‘ | _ |D&|
155’ ~ TGP] v DR ~ GCT]
B’z _ |Gz'| IDG| _ |DV|
VIBZT = 107 G’ D — X1Da’] = DV
XlBB'\ _ 16Z7] \/lG | _ |DE|
[GBl ~ 127 Vv’ G [VV7[ = IDV7|
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|JM| _ |JG'| d) \ , |H'J'| _ |WH]|
XTJG] T 1T H XTHIT T IWH]

|[MM'| _ |JM]| H |JJ'| _ [WJ|

VY7 = IV VIAA] = WA

IGM| _ |IM] | A/ (W J'|
XTGTM] = [IM] J XTTI T WA

|G'M'| _ |IM] W J— (waA'| _ |WH]|
X GM] [TM7] XTWA] — [WH|

A :
A

Viel Erfolg!
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